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1) The first term of an A.P. is 12, the last term is -8, the common difference is -2. Find the sum of
the A.P.

(@) 18 (b) 16 (c) 22 (d) 20

2) The 9™ term of an AP is 449 and 449th term is 9. The term which is equal to zero is:
(a) 502" (b) 459" (©) 501t (d) 458"

3) For an AP t, =2n+3 what is the formula for s, ?
(@) n(n-4) (b) n(n+1) (c) n(n+4) (d) n(n-1)

4) Which term of the AP. 1,4,7 is 887
(@) 35 (b) 26 (c) 27 (d) 30

5) If sum of n terms is given by S, = 3n2 + 5n, then the common difference of this AP is
(@6 (b)8 (c)4 (d) 14

6) The sum of the series 452 - 432 + 442 - 422 + 432 - 412+ 422 - 402 + ... upto 30 terms.
(@) 1110 (b) 2220 (c) 3330 (d) 4440
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7) Find 10th term from end of the AP 4, 9, 14, ..., 254.

8) The nth term of an AP is 6n + 2. Find its common difference.

9) Find the sum : -5 + (-8) + (-11) + ... + (-230)

10) Which term of the Arithmetic Progression 3, 10, 17,

11)If for a given AP, a = 7 and a3 = 35, then find Sy3.

12) Which of the foll form an AP? Justify your answer.
V3,V12,v/27,1/48. ...

13) Which of the following form an AP? Justify your answer.
0.3,0.33, 0.333,

14) Which of the following form an AP? Justify your answer.
4,44 V2,4 +2V2,4+3V2,...

15) The taxi fare after each kilometre, when the fare is Rs.15 for the first kilometre and Rs. 8 for
each additional kilometre, does not form an AP as the total fare (in Rs.) after each kilometre is 15,
8,8 .8, Is the statement true? Give reasons.

- will be 84 more than its 13th term?
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